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Q1A Do as directed: (Grammar) (8)
1. She was filled with great zeal. (Pick out the noun and state its kind) (1)
2. They hopped, jumped and ran around.( Identify the adverb and state its kind) (1)
3. Canyou me to your school? ( take/ direct) Choose the most appropriate word) (1)
4, are the mangoes kept? ( Fill in a suitable "Wh" word ) (1)
5.1 __ not know anything.(fill in the blank with the correct verb) (1)
6. Students of the Std VIl were invited with their parents. (1)
( Rewrite the sentence using Simple Future Tense)
7. Socrates was one of the wisest men of the ancient world. (1)
(Pick out the adjectives)
8. Salim stayed at home because he was ill. (Underline the conjunction) (1)
A.2. Do as directed: (8)
1. Give the homophones of:
i) allowed- ii) wait- (1)
2. ‘In quick succession’ (make a meaningful sentence using the given phrase) (1)
3. Asanas should be practiced in a well lit room. (pick out the auxiliary and state its kind) (2)
4. The little girl spoke softly to the cat. (Identify the verb and state whether it is transitive
or intransitive verb) (2)
5. Read the sentences given below and classify them into Subject and Predicate: (2)

i) The most attractive view was that of the disc of the earth.
ii) | used the front gate and rang the bell.

Q| B. Do as directed: (4)
1. hurrah we have won the game (Punctuate the following) (2)
2.The lion turned to the camel and said, "You shall be my friend as long as we are alive." (2)
( Rewrite in Indirect speech) (2)
Q 2 A Read the passage and do the activities: (10)
A 1 Complete the following sentences: (2)

i)The trip to the moon was

ii)Remembering the incident

The trip to the moon was exorbitantly expensive, but still Sayali’s mother had sent her on the trip. “In
our childhood we could not even think of such long distance trips! The longest trip meant going to
Europe. If you are getting this opportunity, make the most of it.” said mummy.

“Oh! Mummy, Neha’s grandmother was saying that in their childhood, the longest trip for school
children used to be only upto Delhi or Kolkata. It seems so funny ,isn't it?” said Sayali laughing.
Remembering the incident made her laugh even now. Now the shuttle was getting closer and closer
to the moon. Then it started orbiting the moon. In every 32 minutes, the shuttle completed one
revolution round the moon. Light and darkness followed each other in quick succession. The dome
shaped settlements on the moon which resembled the igloos of Eskimos were now visible.

A 2 i) What did the longest trip mean? (1)
ii) What did the dome shaped settlements on the moon resemble? (1)
A 3 Give the plurals for: i) incident-___ ii) opportunity- (2)
A 41i) If you are getting this opportunity, make the most of it. (1)
(Pick out the preposition)
ii) It seems so funny. (Add a question tag) (1)
A 5 What is your dream destination? Why?Give reason. (2)
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Q 2 B Read the passage and do the activities: (10)
B 1 Complete the sentence: (2)
i) l inferred that he must be digging a tunnel
ii)It confirmed my suggestion

“ When | heard that the assistant worked for half the wages, | became suspicious. Using Mr
Wilson's description of his assistant, | made enquiries. | found that he was the criminal Clay.Why was
he working in Mr Wilson’s shop? And his habit of going into the cellar every now and then! | inferred
that he must be digging a tunnel to some other building. When we visited the shop, | beat upon the
pavement with my stick to find out whether the cellar stretched out in front or behind. It was not in
front. | saw the bank on the other side of the house and guessed what the criminals had in mind.
When Clay answered the bell, the knees of his trousers wrinkled and stained! It confirmed my
suspicion that he was digging. You know the rest of the story."

"You reasoned it out beautifully!” | exclaimed in admiration.

B 2 i) Who heard that the assistant worked for half the wages? (1)
ii) In what condition were the trousers? (1)

B 3 Give the noun form of: i)criminal- ii) suspect- (2)
B 4 i) It was not in front. (Make it affirmative) (1)
ii) Frame a sentence with "to have in mind" (1)

B 5 What would you do if you were caught red-handed stealing from your friend's bag? (2)

Q 3 A Read the following poem and do the given activities (5)

A 1 Name the adjectives that describe the following: (2)
i) bee- iii)flower-
ii) hour- iv)food-

How doth the little busy bee
Improve each shining hour,

And gather honey all the day
From each and every flower.

How skilfully she builds her cell;
How neat she spreads her wax,
And labors hard to store it well
With the sweet food she makes.

A 2.i) Name the poet. (1)
ii) Where does the busy bee go to gather honey? (1)
A 3. From each and every flower. (Identify the figures of speech) (1)

Q 3 B Read the following poem and write an appreciation of it with the help of the given points in

a paragraph format: (10)

In Time of Silver Rain

In time of silver rain.

The earth

Puts forth new life again,
Green grasses grow

And flowers lift their heads,
And over all the plain

The wonder spreads.
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Of Life,
Of Life,
of Life!

In time of silver rain

The butterflies

Lift silken wings

To catch a rainbow cry,

And trees put forth

New leaves to sing

In joy beneath the sky

As down the roadway

Passing boys and girls

Go singing, too,

In time of silver rain

When spring

And life

Are new.

----- Langston Hughes

Title *Poet *Rhyme Scheme *Favourite line * Theme *Figures of Speech* Type of poem

Q4 A Read the passage and do the activities: (10)

A 1 State whether the following statements are True or False (2)
i) Most people enjoy playing board games on weekends.
ii) There were 10 seconds left on the timer.

The clock struck ten on a Saturday. The dreaded alarm rang. It was family game time. Most people
enjoy playing board games with their family, but my parents are little different. They can get a little
too competitive.

We sat down at the table with a large stack of board games. All had voted in favour of playing
Pictionary that night. Deciding the teams itself took a while. After an entire hour, we reached the
consensus that the teams for all the rounds would be my father and me against my brother and my
mother. This was much to my mother’s displeasure as my brother really did not look up from his
phone.

We began the game. The air was filled with competitive tension. | had to draw the word “Orca.” My
father started guessing. He rallied from dolphin whale to killer whale to finally guessing orca. The
rounds continued amidst peels of laughter, yelling, victory laps, sulking etc. Then we reached the final
round. If looks could kill, my mother’s eyes would have pierced right through me. There were 10
seconds left on the timer. It was my final chance. With bated breath | blurted out my word. Silence
embraced us; only to be shattered by shrieks of joy from my father. We had won.

A 2. Fill in the blanks: (2)
i) The air was filled with tension.
i) It was my final
A 3 Give the adjective form of: i) air-__ iijtime-__ (1)
ii) Identify and pick out two collective nouns from the passage. (1)
A 4 i) My father started guessing. (pick out the pronoun) (1)
ii)Frame a meaningful sentence with "consensus" (1)
A5 Is family time a priority? How does your family spend time together? (2)

Q 4 B Read the above unseen passage and write a summary on the same with a suitable title. (5)
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Section 2 Writing skills

Q5 A. Letter Writing: (5)
A 1. Write a letter to the school Principal requesting her leave to attend a family function.
OR
A 2.Write a letter to your grandparent thanking him/ her for helping you with your project.
Q 5 B.Dialogue writing / Interview (5)
B 1. Write a dialogue between your teacher and a fellow student on the importance of
courteous behaviour.
OR
B 2. You have won the ‘BEST STUDENT OF THE YEAR’ award in your school. Write 10 questions that a
School Council member would ask to interview you to put.

Q 6.Information Transfer . (5)

A 1. Read the following information and prepare a tree diagram for the same.
The main qualities required for true sportsmanship is putting in one’s best into the games.
Besides being a skilled player, he or she should enjoy the game. A true sportsperson plays with
the spirit of competition, not rivalry. He or she should respect the opponent and even learn a
few lessons from him or her. Observing the game of the opponent can give an idea of the strategy
one has to use in order to win. If it is a team game, the sportsperson should possess team spirit.
When the sportsperson is victorious, he or she should be humble about it. In the event of defeat,
he or she should accept it carefully. All these qualities are the marks of the true spirit of
sportsmanship that every sportsperson should display.

OR
A 2. Observe the following tableand transfer the information into a paragraph.
KINDNESS TO ANIMALS CRUELTY TO ANIMALS
e They are living beings. e They have been harassed, chained and
exploited.
e Unable to speak,defenceless. e Used for selfish human gains.
e Dependent on us and nature for survival. e Experiments are conducted on animals.
e Form an important part of the ecosystem e Used as guinea pigs, in films, circuses
and add to richness of flora and fauna. amuzementparks.
Q 6 B 1.View and Counterview (5)

Write your view and counter view on ‘Village life is better than city life . Use the following points.
Views:
* Villages have much lesser pollution and more greenery hence cooler climate
* Village life is slow, monotonous and non trendy
* Villages offer man the sight of natural landscapes and scenery
Counterviews
* City life is a fast changing life, adaptable and trendy
* City life offers a person more opportunities for growth and development
* Man can make rapid progress in a city.
OR
Q 6 B 2. Write a speech to be delivered during the assembly on “The Fruit of Labour spells Success”.

Q 7 A Expand the idea :(Any 1) (5)
1 The early bird catches the worm 2 Where there is a will there is a way
Q7B Report Writing: (5)

B1.Write a report on a recent festival that you have celebrated in your locality for your school
magazine.
OR
Q 7 A2. Write a news report on the recent attack on our Indian Armed Forces in Phulwama.
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Q 1 A Read the statement and correct the wrong ones
(4)

1) The earth’s turning around its own axis is called rotation of the earth.

2) Air pressure is expressed in milligrams
3) Duration of daytime is less on the vernal and autumnal equinoxes

4) Skilled labourers are required for plantation farming.
B) Fill in the gaps with the appropriate option

(4)
1) When there is high tide at O° meridian, the
high tide .(O° meridian, 180° meridian, 90° E)
2) Polar High Pressure Belts are formed between and
Parallels in both the hemisphere.( 25° and 35°, 55° and 65°, 80° and 90°)
3) At higher altitude air becomes .(Thicker, thinner, hotter)
4. Most of the territory of India lies in region.
(Mountainous, hot desert, monsoon)

also experiences

Q.2 A. Answer the following questions in one sentence each.

(4)
1) What is a barometer?
2) What is the main reason for generation of waves?

3) How are salt pans useful?
4) If there is low pressure at the equator, what will be the condition of air pressure in the

Arctic Zone?

B. Complete the following chart:

(4)
Types of Winds
|
|
Planetary Winds ‘ |
|
| | i
S.W.Monsoonlwmds I—:l
5 | | | [ |
e D e T s R S R I —

Q 3. A Write geographical reasons for the following statement (Any 3)

(6)



1) People in the monsoon region are mainly engaged in agriculture.
2) One should avoid artificially ripened products.

3) Reasons for Soil erosion.

4) Cyclonic winds blow in a circular manner.

B) Differentiate the following (Any 2)
(4)

1) Hamlet and Village.

2) Cyclones and anticyclones.

3) Land breezes and Sea breezes.

Q.4) A. Answer the following in brief (Any 2)
(6)

1) What are the characteristics of the monsoon region?

2) Write in details about animal husbandry?

3) Explain how human settlements have evolved?

B) Write short notes on the following (Any 2)
(4)

1) Beekeeping.

2) Agro- Tourism.

3) Rural settlements and cultural stability.

Q .5) Study the diagram and identity the types of settlements.
(4)



1) Settlement ‘A’ has 5-6 houses and the place does not have other facilities. Give two
reasons for its location there.

2) 'B’ has a high school, big market and a small theatre.

3) ‘C'is a settlement that has developed along the roadside. Give two reasons of its

location here
4) ‘D’ is a natural harbor. Many industries have been established there.
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HISTORY

Q1. A. Fill in the blanks in the given statements choosing
the correct alternative from the brackets. (4)

1. was the First Guru of the Sikhs .(Guru Gobind
Singh ,Guru Nanak ,Guru Teghbahadur)

2.He explained the importance of physical fitness .(Sant
Eknath ,Swami Ramdas,Sant Namdeo )

3.Jagir of Shahajiraje in Karnataka was
.(Rajgad,Bengaluru ,Chakan)

4 .British ,Dutch and French had their factories in
.(Agra ,Surat,Delhi)

Q.1B Identify the wrong pair and write the corrected pair (4)

a.l.Dictionary of Sanskrit words - Rajya —vyavahara-
kosha

2.Sardar defeated at Vani-Dindori —Afzal Khan

3.Died hero’s death at Purandar -MurarbajiDeshpande

4.proposed Shivaji maharaj to visit Agra -Jaisingh

b .1Council of 8 departments -AshtapradhanMandal

2.Head of intelligence department -BahirjiNaik

3.Highest officer in the army -Havaldar

4 .HambirraoMohite -Senapati

c.l.Important officer in the navy -Daulatkhan

2.A Tamil poet who composed a poem -SubramanyamBharati
3.Started celebration of Shivajayanti -Lalalajpatrai
4.Disguised himself as ShivajiMaharaj -Shiva Kashid

d.1.Mauyja - Small village
2.Pargana -group of village

3.Kasba -Big Village




4.Chief of the village -Mahajan

Q2. A. Complete the following concept map. (any2)

1)

T

2.

4 qualites
of Shivaji
Maharai

)

v

Prominent
sardar families
promoted by

M AIIRNAA

(4)

Sardars who
opposed the cause

_ L AAVAITAMN A

Q2. BShort Notes. (any2)

/\

1. Shivaji Maharaj’s campaign of the South
2. Maharani Tarabai

3. Work of Chimajiappa
4. Peshwa Balaji Bajirao

(4)

Q3.AExplain the following statements with reasons.(any 2)

1. Sambhaji Maharaj abandoned the conquest of Goa .

2. Two separate Maratha states were formed .
3. Dasara was an important festival .

4. Aurangzeb turned his campaign towards Adilshahi and
Qutubhshahi kingdoms.

(6)



5. Shivaji Maharaj raised a navy.
Q3. B. Answer the following in 25-30 words (any 2) (6)

1. What did Guru Nanak realize after visiting many holy
places ?
2. Why did Shivaji Maharaj take action against
Chandrarao More?
3. How is Peshwa Madhavrao described in the history of
the Marathas?..
Q4. Read the passage and answer the questions given

below. (4)

Due to the family feuds amongst the Peshwas ,Raghunathrao
opted to go to the British camp .He wanted to become a
Peshwa with the help of the British .It was not acceptable to
the Maratha Statesmen .This led to an inevitable conflict
between the Marathas and the British.The conflict between the
two great powers .The Marathas and the British would finally
decide who the ruler of India would be .

Questions :

1.Why did Raghunathrao opt to go to the British camp ?
2.Whose help did Raghunathrao require and why ?

3.Who disagreed with Raghunathrao ?

4.Who would decide the ruler of India ?

Q5. Answer in detail. (any 2) (8)

1. What was the arrangement made for the supply of
drinking water ?

2. Write in short about Nana Phadnavis .

3. How do we know that Shivaji’s religious policy was of
tolerance ?

CIVICS
Q6. Fill in the blanks. (4)
1.India is a country.(rich,democratic , popular )

2.To defend the country and render national service is a
Fundamental .(duty ,right ,law )




3.To restrain a person from acting in an office to which he is
not entitled is (Mandamus ,Habeas Corpus ,Quo
Warranto )

4. The procedure to amend the Indian Constitution is
.(too difficult, too easy ,neither too difficult nor to

easy )
Q7. True or False with reasons. (any 2) (4)

1. We should keep the public places dirty.

2. The Constitution has created an artificial hierarchy among
people

3. The machinery that governs the entire country is State
Government.

Q8. A. Short Notes. (any 2) (4)

1. Union territories
2. Right to freedom of religion
3. Enumerate Directive Principles of State Policy
Q8. B. Complete the following concept maps. (any 2) (4)

Types of

Justice Subjects in the

Concurrent List

- \ L 1.

2.

political

3.
Any 2 writs
Quo — |
Warran
Q9. Answer in brief. (any 2) (4)

1. Write about our Fundamental Duties.(any 4 )

2. Name the civil honours that are conferred by the
government .

3. Write in short about Union Government .
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Q1 A) Solve the following (Any 8) (8)

1) Draw a line segment of length 6.7 cm. and draw its perpendicular
bisector.

2) Multiply (-5) x (-7)

3) Which are even Prime numbers ?

4) Find the measure of the supplement of angle of 135°.
5) Write 73 in decimal form .

6) Expand (2 x + 3y)’

7) Find the square root of 324

8)Solve :5m—-4=1

9) Find the value of ( g )4

Q1 B) Solve the following ( Any 4) (8)
1) If 10 pens cost 60 rupees, what is the cost of 13 such pens ?
2) Find the simple Interest on Rs 4200 at 7% p.a for 3 years ?
3) The diameter of a circle is 14 cm . Finds its circumference .
4) Subtract the Second expression from first (5x+4y+7z) ; (x+2y+3z)

5) Multiply : 23xy* X 4yz°.

Q2 A)Choose the correct alternative for those given below and Rewrite it.

(8)




1) The ray which bisects any angle of a triangle is called as the ------------- of
that angle.

a) Median b) Altitude c) Bisector d) None
2) Square of a positive number is ------------------

a) Positive b) Negative c) Zero d) None
3) 23 X 25 .

a) Hypotenuse b) Perpendicular c) Base d) None

5) 7p2X83b : monomial :: 5+3x3y3zz; ________________

a) Binomial b) trinomial c) Polynomial d) Monomial
6) The money borrowed or lent out is called --------------

a) Principal b) Rate c) Interest d) Amount
7) The smallest natural number is --------------------

a)1lb)2 c)3 d)4
8) The multiplicative inverse of 9/7 is -------------—--

a)7/9 b)-7/9 c)+9 d) 7

Qll B) Solve the following (any 4)
(8)

1) Expand (5a+6b )%

2) Inright angled A LMN, 2M =90°, If | (LM)= 12cm and /(LN)=20cm ,find
the length of seg MN.

3) Find the total surface area of cube having side = 5.5m.

4) A page of calendar is 45cm long and 26cm wide .What is its area ?



5) Simplify 45 +5+20 X 4-12

Qlll A) Carry on any four activities of the following . (8)

1) Fifteen workers take 8 hours to build a wall . How many hours will 12
workers need to build the same wall ?
Solution: As the number of workers ------------ , the no of hours ----------- .

The product of the number of workers and the number of hours
needed to build the wall is constant.

The no of workers and no of hours are in ------------- proportion
Suppose 12 workers take ------- hours.
Number of workers g 1= S U —
Number of hours | = ———mmmeee—- X

15 X ---mmme- = 12 X e

——————————— = 12x

------------ = X

X = ==--m-- hours

Hence ------- hours are required by ----- workers to build the same wall.




2) If Shrikant deposited 85000 rupees for 2 ¥ years at 7 p.c.p.a in savings

bank account . What is the total
Interest he received at the end of period ?

Solution:
Here, P=Rs 85000 , R=--------- , N=-mmmee
= - X - X ---
100
Interest = RS -----------
Shrikant will get interest of Rs. ---------- after ----------

3) If the length and breadth of a rectangle are doubled , how many times

the perimeter of old rectangle will
that of the new rectangle ?
Solution:
Let length of rectangle is = --------

and breadth of rectangle is = --------

Perimeter of old rectangle = 2( ---------- "

Perimeter of old rectangle = 2 ( ----------- oo

(formula)



perimeter of old rectangle is = -----------
Now, If length of a new rectangle = ------

And breadth of a new rectangle = -------

Perimeter of new rectangle = 2( ---- + ----- )
(formula)

2( - + )

Perimeter of new rectangle

Perimeter of old rectangle is --------- times of new rectangle .

4) If mzA=70° ,what is the measure of the supplement of the
complement of ZA

Solution: First we find ---------——--- of £A

mzA=70° given)

The measure of the complementary angle is ------------ :
Now, we have to find the supplementary angle of ------------ :
Let the measure of supplementary angle of 20° be ----------

Then 200 + - = 1800



5) Suresh and Ramesh together invested Rs 1,44,000 in the ratio 4:5 and
bought a plot of land .
After some years they sold it at a profit of 20 %.What profit did each of

them get?
Solution: Investment = Rs 1,44,000, profit = ------------

Total profit = 20 R
100
The profit is to be shared in the ratio ------ R
Let the profit received by suresh and Ramesh be Rs ----------- and Rs ---
---- respectively.
Then ---------- Fommmmmmmen = e
x= 28800 =+ ----
R ——
Therefore 4x= ---—--—-- and 5X =  —ccccemmeeeeee



Qlll B) Solve the following (any 4) (8)

1) In AMAT, [(MA) =5.2cm, m£A=80°, /(AT) =6cm .
. 161 L
2)  Find HCF of = by division method .

3) If ZAand 4B are supplementary angles and m4 B = (x + 20)°, then
what would be mzA ?

N o
[SSH=

4) Simplify : % — = X

5) Draw the pairs of angles as described below.If it is not possible , say
why .
.a) Angles in a linear pair which are supplementary b) Complementary

angles that do not form a linear pair.

QlV) Solve the following (any 6) (18)

1) What is the value of a rectangular plot of land 75.5m long and 30.5m
broad at the rate of 1000 rupees per square meter?

2) How much metal sheet is required to make a close rectangular box of
length 1.5 m, breadth 1.2m and height 1.3m?

3) Use the formula to find the values a) 502 x 498 b) (102)

4) A farmer bought some sacks of animal feed .The weight of the sacks are
given below in kilograms . What is the average weight of sacks ?

49.8, 49.7,49.5, 49.3, 50, 48.9, 49.2, 48.8



5) The number of chapatis that 30 children in a hostel need at every meal is
given below . Make a frequency table for these scores.

3,2,2,3,4,5,4,3,4,5,2,3,4,3,2,5,4,4,4,3,3,2,2,2,3,4,3,2,3,2

6) The radius of a circular plot is 7.7 m . How much will it cost to fence the
plot with 3 rounds of wire at the rate of 50 rupees per meter ?

7) The sides of some triangles are given below . Find out which ones are
right angled triangles ?

a)8,15,17 b)2,4,5

QV) Solve the following.(any 2)
(8)

1) The maximum and minimum temperatures of five Indian cities are
given in °C .Draw a joint bar graph for this data

Delhi Mumbai kolkata Nagpur | Kapurthala
Temperature
35 32 37 41 37
Maximum
temperature
Minimum 26 25 26 29 26
temperature

Q2) An open box of length 1.5 m, breadth 1 m and height 1 m is to be made
for use on a trolley for carrying garden waste .How much sheet metal will be
required to make this box ? The inside and outside surface of the box is to
be painted with rust proof paint .At a rate of 150 rupees per sq. m ,how
much will it cost to paint the box?

Q3) Multiply (In vertical and horizontal arrangement)




1) (x+2) X (x+3)

QVI) Solve the following (any 2)
(6)

1) Find the Product by using formula a) (p—8) (p+8) b) 203 X 197
2) A rectangular playground is 105 m long and 40 m wide .Along all four
sides there is a 3.5 m broad road
Surrounding the ground .What is the area of the road?

3) Tulsiram borrowed some money from a bank for 2.5 years at the rate of
10% p.a. To repay his debt he had to pay rupees 10,250 as interest. What
was the principal he had borrowed?
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SCIENCE |
Ql) A) Do as directed:
(5)
i.  The quantity of speed is the ratio of and
ii.  Write the formula to calculate work done.
iii.  Find the odd man out: wood, plastic ,rubber, iron
iv.  Complete the table:
Quantity S.1. unit
Force
Displacement
B) Choose the correct alternative and rewrite the sentence.
(5)
i is a scalar quantity.
a) Acceleration b) Force c) Mass d) Velocity
ii.  Theunit of areais .
a) Litre b) Kilogram c) Metre square d) Gram
iii.  Displacement of charge is responsible for generation of electric charge in
an object.
a) Positive b) Negative c) Neutral d) Zero
iv. gave a scientific explanation that earth itself is a gigantic magnet.
a) Gilbert b) Thomas c) Faraday d) Darwin
v. The___ forceacts onthe mass is called weight.
a) Mechanical b) Elecrical ¢) Muscular d) Gravitational

Qll) Attempt the following questions (Any 5):

(10)

iii.
iv.
V.
vi.
vii.

How will you protect yourself from lightning?

What happens when a force is applied in the direction opposite to that of motion of
the body?

Distinguish between scalar and vector quantities.

Why do we use white clothes in summer and dark clothes in winter?

Why an iron article should be given a coat of paint?

Write two examples of each: a) Alloys b) Elements

Explain the following terms: a) Zenith b) Meridian

Qlll) Attempt the following questions (Any 5):

(15)
.
i

Vi.

Vii.

What points should be considered before a sky watch?
Name the following:
a) Brightest star in the Scorpio constellation
b) Clouds made up of hydrogen gas and dust particles
c) Circle which shows apparent motion of sun around the earth
Answer the following:
a) Where does the event of ‘Zero Shadow day’ occur?
b) Does the shadow really vanish in the zero shadow condition?
Why we cannot hear the movement of our hands but we can hear the movement of a
mosquito’s wings?
Explain the three different modes of transfer of heat.
Explain two ways by which the pitch of the sound generated by a stretched string or
wire can be changed?
Why a beam of light is not seen in plain water but it is seen in turbid water?

QlV) Attempt the following questions (Any 1):

(5)




Answer the following:

a) Distinguish between Compounds and Mixtures.

b) What are the properties of elements due to?

c) Where is the method of separating funnel used?
Explain with the help of diagram the relation between The Great Bear, Cassiopeia and
Pole star?(Diagram of constellation The Great Bear and Cassiopeia)

SCIENCE 1l

QV) A) Do as directed:

(5)
.
.

have root like fibres for absorption of food.
State true or false and rewrite the correct statement.
a) The broad and spread — out part of the leaf is called leaf apex.
Name the organism which is used in fermentation process and for making bread.
Match the column:

A Answers B

1) Air a)Excretion
2) Water b)Scattering of light
c)Plasticity
B) Choose the correct alternative and rewrite the sentence.
(5)
i helps in the decomposition of waste.
a) Tick b) Bacteria c) Sparrow d) Tiger
ii.  While freezing the of water is lowered.
a) Mass b) Volume c) Density d) None
iii. is the part of stamen.
a) Stigma b) Style c) Ovary d) Anther and filament
iv.  In abud condition, the petals are covered by leaf like whorl called
a) Calyx b) Corolla c) Pedicel d) Androecium
V. is the highest level in the hierarchy of classification.
a) Kingdom b) Phylum c) Genus d) Order
QVI) Attempt the following questions (Any 5):
(10)
i.  Name the following:
a) Modified roots
b) Plants with spiny fruit
ii.  What will happen if:
a) The amount of water vapour in the air increases
b) When the rays of light fall on the minute particles in the air.
iii.  What are the steps in Nutrition?
iv.  What is the correlation between the normal body temperature of humans which is
37°C and the optimum temperature for the growth of micro-organisms, 15°C to 35°C?
v. Explain why this happens and suggest the possible remedies: The wheat that was
bought is a bit moist.
vi.  What are the important ingredients of toothpaste and what is the function of each?
vii.  How do we affect our health adversely?

QVIl) Attempt the following questions (Any 5):

(15)
i.
ii.
iii.
iv.
V.

Explain the uses of micro-organisms.

Describe the prokaryotic cell with neat and labelled diagram.

What are the measures taken to reduce the impact of famine?

What are the functions of liver and salivary glands in the digestion of food?
How does food spoilage occur? Which are the various factors spoiling the food?



vi.  What are the disastrous effects of tsunami?

vii.  Oil does not mix in water then why oil and water become homogenous if a sufficient
guantity of detergent is added to it?

QVII) Attempt the following questions (Any 1):
(5)
i a) Explain the different type of muscles according to their structure.
b) What is the mutual relationship between Muscles and bones?
ii. a) Distinguish between plant cell and animal cell.
b) Draw neat and labelled diagram of Plant cell.
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Q1A Do as directed: (Grammar)  (20)

1. She was filled with great joy. (Pick out the pronoun and state its kind) (1)

2. They hopped, jumped and ran around.( Identify the tense and state its kind) (1)

3. Canyou me some water? ( fetch/collect) Choose the most appropriate word) (1)

4, on earth are you doing? ( Fill in a suitable "wh" word ) (1)

5.The lad ___ not help me find the way.(Fill in the blank with a modal auxiliary) (1)

6. Students of the Std VIl were invited for a talk.(Change to the perfect present tense) (1)

7. Socrates was one of the wisest men of the ancient world.(Pick out the nouns and state their kind)
(1)

8. Ratan got a promotion as he displayed great expertise. (Underline the conjunction) (1)
A.2.1. Give the homophones of:

i) air- ii) see- (1)
2. for a cause (make a meaningful sentence using the given phrase) (1)
3. May | come in?.(pick out the auxiliary and state its kind) (2)
4. | told the little girl to sing a song. (Identify the verb and state whether it is transitive

or intransitive) (2)
5. Read the sentences given below and classify them into Subject and Predicate: (2)

i) The most attractive view was visible at last.
ii) | used the front gate and rang the bell.
Q| B. 1.hurrah we have won the game (Punctuate the following)

2.The lion turned to the camel and said, "You shall be my friend as long as we are alive." (2)
( Rewrite in Indirect speech) (2)

Q 2 A Read the passage and answer the questions given below (10)
A1 Complete the following sentences: (2)
i)The trip to the moon was

ii)Remembering the incident

The trip to the moon was exorbitantly expensive but still Sayali’s mother had sent her on the trip.
“In our childhood we could not even think of such long distance trips! The longest trip meant going to
Europe. If you are getting this opportunity, make the most of it.” said mummy.

“Oh! Mummy, Neha’s grandmother was saying that in their childhood, the longest trip for school
children used to be only upto Delhi or Kolkata. It seems so funny isn't it?” said Sayali laughing.
Remembering the incident made her laugh even now. Now the shuttle was getting closer and closer
to the moon. Then it started orbiting the moon.

In every 32 minutes, the shuttle completed one revolution round the moon.

Light and darkness followed each other in quick succession. The dome shaped settlements on the

moon which resembled the igloos of Eskimos were now visible.

A 2 i) What did the longest trip mean? (1)
ii) What did the dome shaped settlements on the moon resemble? (1)
A 3 Give the plurals for: (1)
i) incident- ii) opportunity-
A 41) If you are getting this opportunity,make the most of it. (2)
(Pick out the preposition)
ii) It seems so funny. (Add a question tag) (1)
A 5 What is your dream destination? Why? (2)

Q 2 B Read the passage and answer the questions given below (10)
B 1 Complete the sentence: (2)
i) Electronic and communication




ii)Their combined work

Fortune favoured the brave Faraday once again when he met James Maxwell, a wealthy educated
physicist well versed in Mathematics.He was willing to work with Faraday.lt was Maxwell who
trasnslated Faraday's idea into a set of equations that are now called Maxwell's equations. Their
combined work has helped us in many ways. Electronic and communication system today are
designed around their discoveries. Someday, we may even be able to communicate with aliens across
different galaxies using products of these discoveries.

B 2 i) Whom did Faraday meet? (1)
ii)into what were Faraday's idea translated? (1)
B 3 Give the noun form of: i)willing- ii) combine- (1)
B 4 i)Fortune favoured the brave Faraday. (Change the voice) (2)
ii)Frame a sentence with "in many ways" (1)
B 5 What would you do if you came across an alien? (2)
Q 3 A Read the following poem and do the following activities (5)
A 1 Name the adjectives that describe the following: (2)
i)scale- iii)tail-
i) grin- iv)claws-

How doth the little crocodile
Improve his shining tail
And pour the waters of the Nile
On every golden scale
How cheerfully he seems to grin,
How neatly spreads his claws,
And welcomes little fishes in.
With gently smiling jaws!
A 2.i) Whom does the poet refer to in the poem. (1)
ii) What does the crocodile welcome? (1)
A 3. How cheerfully he seems to grin,
How neatly spreads his claws, (Identify the figures of speech) (1)
Q 3 B Write the appreciation of the following poem with the help of the guidelines given below:
(10)
*Title *Poet *Rhyme Scheme *Favourite line * Theme *Figures of Speech* Type of poem
From a Railway Carriage
Faster than fairies,
faster than witches,
Bridges and houses
hedges and ditches;
And charging along
like troops in a battle,
All through the meadows,
the horses and cattle;

All of the sights

of the hill and the plain
Fly as thick

as driving rain;
And ever again,

in the wink of an eye,
Painted stations

whistle by.

Here is a child
who clambers and scrambles,



All by himself
and gathering brambles;
Here is a tramp

who stands and gazes;
And there is the green
for stringing the daisies!

Here is a cart
run away in the road
Lumping along
with man and load;
And here is a mill
and there is a river.
Each glimpse
and gone forever!
- R.L. Stevenson
Q 4 A Read the passage and answer the questions given below (10)
A 1 State whether the following statements are True or False. (2)
i) Our ancestors could get books easily.
ii) Books give us instruction with entertainment.

Our ancestors had great difficulty in getting books. Now, our difficulty is what to read. There are
books and books but our hours of reading are very few. Therefore choice becomes essential. We
should be very careful about what we read.There are books which poison our minds by suggesting
evils. We should keep them at arm's length.

We should read only those books which have stood the test of time.Such books are our great
classics like the Ramayana and the Gita.They contain wisdom of our sages and saints. They have
appealed mankind from generation to generation. Reading of such books has ennobling effect on our
mind and character.It gives us spiritual enjoyment.These books give us instruction with
entertainment. They represent our ancient culture.

They set before us high ideals to follow.They are our best friends, best guides and best treasure.

A 2. Fill in the blanks: (2)

i)Therefore choice becomes

ii)They contain of our sages and saints.

A 3 Give the adjective form of: (1)
i) generation - ii)length-

ii) Identify and pick out two great classics from the passage. (2)
A 4 i)They are our best friends. (pick out the pronoun) (1)
ii)Frame a meaningful sentence with "at arm's length" (1)

A5 Now our difficulty is what to read. Do you ever face such a problem? How do you tackle it? (2)
Q 4 B Read the above unseen passage and write a summary on the same with a suitable title. (5)
Section 2 Writing skills
Q5 A. Letter Writing

A 1. Write a letter to the school teacher apologising for not carrying your calender to school. (5)
Or
A 2.Write a letter to your parent thanking him/ her for helping you choose to study Sanskrit.
Q 5 B.Dialogue writing / Interview (5)
B 1. Write a dialogue between your teacher and a fellow student on the importance of punctuality
Or

B 2. You have won the BEST STUDENT OF THE YEAR award in your school. Write 10 questions that a
School Council member would interview you for an article in the school magazine.
Q 6.Information transfer



A 1. From the given paragraph prepare a tree diagram. (5)
The main qualities required for true sportsmanship is putting in one’s best into the games.
Besides being a skilled player, he or she should enjoy the game. A true sportsperson plays with
the spirit of competition, not rivalry. He or she should respect the opponent and even learn a
few lessons from him or her. Observing the game of the opponent can give an idea of the strategy
one has to use in order to win. If it is a team game, the sports person should possess team spirit.
When the sportsperson is victorious, he or she should be humble about it. In the event of defeat,
he or she should accept it carefully. All these qualities are the marks of the true spirit of
sportsmanship that every sports person should display.
Or
A 2 Transfer the following information in the form odf a paragragh
Mahableshwar-Located at elevation of 1353 metres
Vast plateau measures- 150 km, surrounded by valleys
Comprises of three villages
Tributaries - Venna and Koyna
Climate - mostly cool, suitable for growing strawberries
Main temple - Panchganga temple
Sightseeing - Arthur's Seat, Tiger Spring, Three Wise Monkeys, Kate's Point

Q 6 B 1.View and Counterview
(5)
Write your views and counter view regarding city life is better than village life with the help of
the following points:
Views
* Villages have much lesser pollution and more greenery hence cooler climate
* Village life is slow monotonous and non trendy
* Villages offer man the sight of natural landscapes and scenery
Counterviews
* City life is a fast changing life, adaptable and trendy
* City life offers a person more opportunities for growth and development
* Man can make rapid progress in a city.
Or
Q 6 B 2. Write on speech to be delivered during assembly on the necessity of good handwriting
(5)
Q 7 A i)Write a report recent cleanliness drive in your locality.
Or
Q7 Aii)Write a report about a recent IPL cricket match that you have witnessed.
Q 7 B Expand the idea :(Any 1)
(5)
1 Time is of Essence
2 Make hay while th sun shines

************************A” the Best*****************************



